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EXECCise 1

Q)

N FJ (1320~i221)
E

(1) FLEV="Cse = TiGesn...-0.0059=0.59 %

7

o (R D M L i P , SR
(2) After-tax opeahng PT="""ales . 2676 0.0519 =5.11%

Ql 2923

- 1000 10X (9.7&)

+Hax an inkest income” 43

Ol (aftr tax) £1549.3 pullion

LS the. company has ek binancial incone._nstedd of net hnandal

€XPeNSL.one. hoawre 1o add. 1he. X com(xmnf from. this..incomy
(nstcad of deduchng it as it would haot done with tx benefit. an

nt celab

)

(1).RNOA = Pr1.x ATO —
9.3% = 5.397 *ATO = ATO = 5397 L&)

() ReOl < [RNOA - (o -D]* NOA 2010 =[0.093-(1.04-D] *1b 659. |

=F282 A mulion

C”.zcu

1594.3
NOA 010~ RvaA.. - 337 =~ b b5 9.l

FCE&.‘; = Ol.wn ~ ANOA oL

=1599. 3~ (1o 198 - 16 659.1) 14 60.4 mulin

“NOAL o = 23495F - 6109 = |6 Y&
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CD B350 %2336 = 1lb &CO = V.. \mplied buﬂm mackef

L « (o B e

Dz—’:
1

b &O0 = l(ob‘“lc?J'"l_‘%Z?Ldi I~ 1.04-9g

12).972-116800q =1+ 314, %“l(olo‘ﬁq"é&? g

121992 - i 731496 B 2R,
16800 16649 6620 L O%O?L

| The macket forccast o growth. rate of 3.09 7 for residual aperahng,
INCame ;. based. an ). caleadanans,

o Vaon + NFO o
unlecered PACe=10-.5ales = SaWs

(T geu+ isas=izaiy
26 176 ~4.3bb

Sales. growih. rate. are dekermuned. by, grodh in P, grow i in

asset frumover and growth. in.net: assets. This 18 1the same

assumnption (o c\mww\ WO resicdual onc,falzno NCome .

’hn,rtfmf MALDE tiful sales Orzwm mto (modéd o the pict -

to -sales. tio (uact, implied on the value of mméz/)laé

[
eauaﬁ o the umaed a/ow/ﬁ rate @r residual cm/awza

ncome 3.09 /
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Exércise o
Q] SN this. (o an equiny statement. for o peure. equaty fimn. Ol (aftr tox)

will e egual o nek income. We @0 dewe this. from sales and et

Ol (afartaxn)= 912 * 0.125 = B4 mulion = not incany

To.get comprengnsive. INCAME We. hate 1o indude 1 dicty swiplus. ikems:

COmp(thn:s‘iut incove = W4 =-8+b =811 million

Sine it.is.a prere equuty. fim FCE isequal fo net diidends fo

| shasthold@is (d). Flom the cléan supiuis. relahion we naue
Qoais. = COE saiu.* COW\P\(KOTM 2cis. = COE 2015

free cash flow, meaning inuestments oace i:\ghﬁr than cash flow genraiod

=30 + 112 -96 3 =$(4¢7/'.m,clucn\, ) which s rwgauuc

by operabians.

d..= comman. dndenas. + CPWTNASEs = ShAT iSSULs
91).=common dividends + O = 102

= common. dividends paid to shaeholders =102 - 9 =41 milyon

Olu.-_‘s; ) ) e
COre RVOA = NOAL.in TS case (puic quity ﬁ'rm) NOA 4.~ CSE 26t

e
COTERNCA =560 “0.1S =[5 4

coreRNOA = Prix ATO

[5. 7.5 0R.5.7.% ATO

157

- ATO 1254 1.2
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EXercise. 3
e @), 9 5. (by diffcrent accounting...

metheds) far the G to scem. marc.or 0SS profutedle. 6n.an annual

bas!s.. free. cash flaws, an. e, oler. hand,,. cannat. be. .manipulatect. by
accaunting. honce . fim. il haw mare. canhol. and. iy are usually

Mae smlom The fim can inuest more o 0ss each vear (@n matQ

ge d\G(crtncog\, ok foro Bim 1o want to oSk e moesient has

10 create cash faws into e fim. as well (cash How fom sporaians)

5o e ALferences. in murskments. will be ewvened ok Hm;er Ia

s, noest diferently.each Neac in_hueshmoni that daes nest

s
P*M\Q oW, of .cash FLF mahk be unslz’abtc bl | 3¢ no can”

far Wy fims wont 1o use (a&s(a oN_SUCh LnquHVLanS

QLONNG. put ghar values o assets on e
boance. sheek  nonce. Jguser. pelwm. 0N..common. équddy (ROCE\ and

NS A ATAYS oaemtma assers (Ri\faﬂ\ whch.is rr\ﬁcaswfg for lower

m‘o'ﬁ\i‘alm ity.

DEPENDS  If the nsk-free interest mte increases. e discaunt cote. for

| Opertitions
| discount rate. far eqwty Us also. clefemined by g financial (Lot

() wih a\so mafa;e Howcwer, the H88a75 eficct an the.
19¢. and.
cost.of. clebf. But, if financial Mrcm ond._coot of . debt emans

e scume aftler tm increadé in nsk :Frte rate ¢t will mcrease e

discount ate. (o equc@ ad. el

statemaent msteacl of mma /b n.the eaz,ua/ amtzw Dirly

mrbm Q!‘C? adotaci ta MJ— (NConLe z‘a gef comort’mmwé_

,.,\[a_bua_hm oL
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Exercise Y 2015 2016 201 % 201& 20092020
Q)| Book value . A5 00 255350 196531 1334 FRBY O
Ol 4200 46200 80610 55241 60103
ROl " 6S9Y 174533 28519 37801.3 513095

*=Ole = Cpenl) By

b)|Ficst, use discaunted cash £low. medlel -
TIPS Ta M [ Vi S (415 NP S [ - . S -1 1 & -
\Aoﬁ: 1.1124 L2492 242 LU29 T L24s LN/ 86l

Now,. usgresidual operating incame. medel -

EEGYTTTFYSE Y

315000 29 T e

2& S .
111292

3978673
(112"

513095

L2593 xﬂ"f” 86l

P
\/)csm‘ B

As. We. con S0 the values. colculalect by thu two. valuahan

models are egual ; which inclicate tds (s the comect. valuahion

based . on the forcaasts. as. the discauntzol cash Flow model and

residual qnefawy ncome macted should glue idenhcal valuos.
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Exercise. S,

(AREGIT)

Proof that the anovmaﬁ'orowfh meclel con. e denved from. the

residual ecmings nedsl (REM):

RE¢

Start with the REH Ve = Bo+ 2, ot X

wnere RE+- EQmMe ~ (Dg DBt |

we.con. e flng (o-—DBt -1.48 . requicd COMANG (Rt@@ e

REt = Eame - RE&Et

First we assume thak resicdual eanmung (s constank for all futuee

poriods (RE(=RE, = REs= .= RE2). Then we o0 use i perpduty

maoclel for valwahon.- -
Ve = Bo p:—11 o pALE N whak We debned in

‘c\/uz bcammﬂo

CU.I“ 4 REGC!(

V Booi_l‘DE'

CSEe -1
TogekAhg ﬂmc&ﬂmﬁa\‘af _______ Be con e refomwated. 08 Tpe-i ),

whu:h coN. oo uatten s pe~ .‘ (see_de[inihon a\owa We e

then et with -

E(lm 1

Ve =pea which 1s e AEGTTTE residual eamings
are_constant and flurefarc abnomal

eanuUNgsS. grawth. . 240

Hawever, constant cesidual eamings nught. not be a ralishe. .
assumption.. instcad. we assiume residual éanmungs. wlll gra fiom

t=1 tot=2, and thak this [s an eme-Time evenk (RE <RE,RE;- &
The cnange ﬁanE 0. RE2. can. e wiitten oS ARE, (~ RE2-RED.

Sin¢e rmctuof. eC(m,umm a®_condlenk eoflec thes chonge. we mst

need to.add this c’yw:cwu’z event o e \/awghm modeé

we used before ok first we con reaconge thak mode| o

< Rb@&nv REq
\/ = D— bl pe ~\
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Now..ie.can.odd the. volue. of ARE,.. SN IF i canstant afler £=2

ARE,
Wis.a aemam\m e . bk thas gioes s The violue i

= Cu\d e uuan‘r to Aiscaunt it oo oo\d\mm\ YOO fo. gek the

ARE.
valuwe at tume 0. Henco : (pe-N7pe. fvof .

Mmaocie. k

VE_,RE@E1 ,,r.@EJ_A ARE;

- -+
Q. pe it Rer ko (Pen)r Pe

<o T (REQE, +RE, + "5

Rernemloec. RE = £ame -REQE . =& £am1 = REQE4 ¥ REA., Aence

ARE )

Tl
Ve = pe.\ (Eam S S

If resicual eamings. change. euey \Jcar/ﬁwm/aancr te medel can just

odd the chonge as i plzd With AIQED, and Wm moduel con be m+}€na.>

G ARE, T BREY T ARES
VA rJ——I EAmq* pe pel .l o

\ 4

It Con be proven that ARE=AEGe , unce the macel con be

refomdated. (300 picot of ACGe= ARE: an nect £age)

N Aee. RS
Ve el (E(lm1+ o

I

abnamal_eamings

grmﬁln moclel -

NAED




Emnekode . _ BEY|Y
M| UNIVERSITETET I AGDER  arsesn: - _td100c
Dato : R0.05 . 2016
Ark nr. : & av 8

To_prove thak ABGe = AREe we starrt with dehning AC6

AEGe = EAMe + (pe-T)de-1 = pe EAM -
=EQMet EQMe- 2 EAM - L+ (DE'DC\C'\ —PeEMe-|
e | {
=0
=EQAMe-Eame- *(PE")(de—t -'Emt‘l)
=Eame ~Eame - = (pe=I) Eame-1.~ )

| e (€ the Cleon .swpae; relaton holdsS : Eame-1=de-( = Bi-( — Be-2
Thads.,

AEGe=Eame.—Eame-.~ (Pe- D(Bt—l "8t-2>
=[Eamt = (PE‘DB&-Z] "‘[Eamt»1 - (PE'DB&—Q]
= RE+ = RE¢-I
= ARE ¢ AGED




